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Practise
1. Which of the ordered pairs are solutions to
the inequality?

a) v : 4+ 3,
[4. zn}-a, 12)}

(&) 6 <243 6<7  (solatan)
(42007 20 < {°+3 20< 19 (not solutm)

G ! 3¢ 394 (solution)
(-3,:1-)? R “(‘3)1'*3 (2<1n (not solutian)
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2. Which of the ordered pairs are not
solutions to the inequality?

a) v=2(x—1)F+1,

(0,0 7 122(64)+1
(1,0 0 220-0)"+I
(3,6) € 22(3-1)+!

(~2,18) 152 2 (-2~1)+

\2 3 not a solution
021 it asolutin
£z 1 not a Soluton

/IS219 net a salufion
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3. Write an inequality to describe each graph,
given the function defining the boundary

parabola.
a\}@= +x3 —{ 4% +5 E..
\ s

Y >-x-4x+S
-Iry a value 4kat works

(al'ﬂ') -
NEF X 0 7-0-4l)ss
i 0°s
¥

<
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8. Write an inequality to describe each graph. be ! 2

2 rhex
) E'(m D Y= a(x-0) !

X gy — 2= alz-0)+)

n 2=4a+\
| 2= 4Ha
T4l 7 * 1-a
L
anfﬂkecf-' ("l?) \{: é‘,( + |
N ? %x"#l aboye



Homework:

1c,d, 2c¢,d, 3c,d, 8b (just like the last 4 examples)

4b,d, 5a,c, 6¢,d, 7c,d

"you can do more but these represent everything we can throw at you



